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LABOUR WELFARE AND INDUSTRIAL RELATIONS
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The process of comparing actual 7. Which of the following is not a part of
performance with standards ~ and the Scheme of Workers’ Participation
taking necessary corrective action is in Management in_India ?
czlled " (A) Shop Level Councils
(A)  Controlling (B) Joint Level Councils
(B) Communicating . .
(C) Co-operating (C) Unit Le_vel Councils _
(D) Co-ordinating (D) Industrial Level Councils
An aggregate of several related 8.  Who has described initiation and
action plans that have been designed implementation as the two stages of
to accomplish a mission within a organizational innovation ?
?,Fb)gc'fLed _tmle perlod(g)kngwlr_] as (A) John Child

rojec olicy
(C) Process (D) Programme E(B:g ﬁﬂa;:}rgaé?. eat|' al
Principle of direct contact, reciprocal (D) N.R.Anderson
relationships and  principle of
continuity as principles of co- 9.  Which of the following cannot be
ordination are advanced by said to be a trade union in true
(A) Luther Gullick sense ?
(B) Henry Fayol (A) Craft Union
(C) Mary Parker Follette (B) Industrial Union
(D) Havold Koontz (C) Company Union
Which one of the following is not a (D) Federation
function of the Personnel Department ?
(A) Employment Activities 10. The name of which of the following
(B) Manpower Adjustment legislations has been recently
(C) Grievance Handling changed ?
(D) Quality Management (A) Workmens’ Compensation Act
Which one of the following is not (B) Employees” State Insurance
time based incentive plan ? Act _
(A) Halsey Plan (C) Maternity Benefit Act
(B) Merrick Plan (D) Payment of Gratuity Act
(C) Rowan Plan
(D) Emerson Plan 11.  Which of the following organizations
The concept of “End spurt” is coordinates and controls the working
associated with which of the of voluntary welfare agencies in India ?
following ? (A) ESI Corporation
(A) Job satisfaction (B) EPF Organisation
(B) Morale (C) Central Social Welfare Board
(C) Monotony (D) Chief Labour Commissioner
(D) Fatigue (Central)
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(C) Wt U wiele (D) &diee Hest
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(C) TompEd e
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(A) T A
(C) e AT
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(D) UHEREH ASHT
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(C) -Rar (D) &M
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10.

11.

FOAT: 39 YT H USENR (75) Sg-foshedid WeT € | e WY % gl (2) 37k § | Wt ued
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(D) 3T WA aRug

SUHACT () AR fRaTeRE W,
GISHATHSE TaHuT &l JF TR &
w9 H Rt fae foear & 2

(A) S =EeS

(B) Seesd we 3=

(C) wr e o

(D) TUH.3TR. Usw&

fr=fefad § & gardes st § Aeige |99
T &1 et ST Tehell & 2

(A) Tt g= (B) 3irenfits g
(C) #ofdg (D) %eww

Fefeiiad 5 9 o6 A &1 19 gt &
H IRl T T ?

(A) =fies stfaafa sifefam

(B) HAR TS T AtuAaT

(C) vt wrgferen stttz

(D) SUEH (e I SfufE

e & 9 &9 91 967 Wiss

AT TG ! HIEAHINAT Hl I

qen 3= frafem war € 2

(A) TUg.eTE

(B) TUILUE. G

(C) =g TS HedToT Sg

(D) VoI & ST (1)
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12.

13.

14.

15.

16.

17.

What is the name of the experiment

which marked the beginning of

Labour Welfare ?

(A) Hawthorne Experiment

(B) New Lamark Experiment

(C) Philadelphia Experiment

(D) Mule Spinning Department
Experiment

In which of the following we notice
under-employment in a large measure ?
(A) Coal Industry

(B) Textile Industry

(C) Banking

(D) Agriculture

Which of the following components

is not true as a part of unemployment

definition ?

(A) Physically fit to work

(B) Mentally fit to work

(C) Ability to discharge the work
most efficiently

(D) But, unable to find work

The special provisions relating to
Lay-off, retrenchment and closure as
given under the Industrial Disputes
Act, 1947 apply to those
establishments where at least

(A) 100 workers are employed.

(B) 50 workers are employed.

(C) 200 workers are employed.

(D) 500 workers are employed.

Which of the following is not an
industrial action in India ?

(A) Strike

(B) Lockout

(C) Picketing

(D) Mass casual leave

The Industrial Disputes Act, 1947
requires advance notice to be given
for going on strike and lockout in
public utility services only. Which of
the following specifies serving of
notices for strike and lockout in non-
public utility services also ?

(A) Inter-Union Code of Conduct
(B) Code of Discipline in Industry
(C) Code of Efficiency and Welfare
(D) None of the above
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18.

19.

20.

21.

22.

23.

24.

Which of the following bargaining is
based on workers’ contribution to
productivity ?

(A) Coalition Bargaining

(B) Concession Bargaining

(C) Productivity Bargaining

(D) None of the above

Which of the following labour
legislations in USA made unions
more powerful than management ?
(A) Wagner Act

(B) Taft-Hartley Act

(C) Narris-LeGuaradia Act

(D) Landrum-Griffin Act

Which of the following practices lead
to democracy in trade unions ?

(A) Regular meeting

(B) Fair and timely elections

(C) Audit of accounts of union

(D) All the above

Which of the following is not a mode

of  Workers”  Participation in

Management ?

(A) Works Committee

(B) Employee Stock Option Plan

(C) Joint Management Council

(D) Joint Committee for Policy
Formulation

Which of the following is not a
bipartite body ?

(A) Works Committee

(B) Canteen Committee

(C) Safety Committee

(D) Standing Labour Committee

Which one of the following is not a
tripartite body ?

(A) Indian Labour Conference

(B) Standing Labour Committee
(C) Joint Management Council

(D) Minimum Wages Advisory Board

Under whose regime as Union
Labour Minister, majority of codes
were evolved by the Central
Government ?

(A) V.V.Giri

(B) Guljarilal Nanda

(C) Khandubhai Desai

(D) Bindheswari Dubey
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12.

13.

14.

15.

16.

17.

S FHOIT0T H YEAT F TAETd B
et TN T AT T E 2

(A) =TI FFT

(B) 4 oI HART

(C) TRorSiowar uam

(D) et Tt foamr o

frafafeq 9 9 fF9d &9 S AnEn |
STCY-TSTIR T & 2

(A) FFemsEm  (B) & =M
(C) i (D) B
frfafad § @ &9 ¥ Fueh SRISTRI
! TNHIOT 3 | o &9 3 G Té1 € ?
(A) T HH % o ARNH T T @
(B) W A % i AHRTH &Y H e
(C) Tty eI ¥ 1 e i &1l
(D) W=, M U H 3T

HHET, FeAT SR T=T T Frafeerd oy
Wy, Sar 6 ofmihe  faers
fufTad, 1947 o S=va fgar mn &, 39
T W 1] 8 € STt 9 | FH
(A) 100 T R € |

(B) 50 sifteh Fafsta & |

(C) 200 s fafTa & |

(D) 500 e FafTa & |

IR | ST e (W) Heferad
T A1 e 2

(A) F=aE

(B) dretra=t

(C) &wm

(D) Wi Shieeh et

e foerg  etfufem, 1947 &
=T, HaA i SUAINTAT Henew o
EEATT B 3R ATeTe=l & ford 31hm
e T ggar & | IReAw STAATr
Attt § | gedrer q°1 Al & ol
qifeq 37 H T FEAfeiEd § 9w
fafeee ohear & 9

(A) 37 TE TR Ghear

(B) N ¥ TR I Wieam

(C) IO T SHeaToT i Thean

(D) SUgH | A HIE T |
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18.

19.

20.

21.

22.

23.

24.

frfafad & | A 9 Giearst ScResd

T gfHept & AMEH WX TR ¢ 2

(A) T Fearsi

(B) Temad (@2) drarstt

(C) SIEeHAT Fikarsit

(D) S H A HiE TE

JugT, ¥ e 7 9 e sifutam 3

Tl T e § STET ITSHRIRIeAt ST 2

(A) TR St

(B) Jwe-Eeet situfad

(C) “Rw-o mifear atfufram

(D) iem-fufa sfufrag

fAfeRad § | SF 9 7 g5 |6l

T AR ! 3R T Bl & 2

(A) TTafaa g

(B) —amenfe dem wEtad g

(C) ¥ & orEr uliequr

(D) ST T

TR § STHhT i AT T Al

ffatea & 9 @1 & ¢ ?

(A) faior @fata

(B) HHAR Wik I ASHT

(C) | e aRog

(D) fq Tes & & fod dged
gfafa

frafeafea 4 @ == @ g Hea
T E 2

(A) T Tfafa

(B) =T |

(C) Hwem |iHia

(D) T g| |

fr=fefad & @ st e =i a1 T@t
T2

(A) YRAT 987 THAT

(B) T g\ |EG

(C) I W TReg

(D) = TS WHERRE! i
T8 99 7= & IMET HA H, SARIH
HigaTd e TR gRT S8 TS &f 2
(A) dtdfit  (B) ‘o T1
(C) wigmEgE (D) feeweri g
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25.

26.

217.

28.

29.

Which of the following statements
about Joint Management Councils is
wrong ?

(A) The scheme  of  Joint
Management Councils (JMCs)
was formulated by the Central
Government.

(B) It was implemented in all
industrial establishments in the
country.

(C) It was not implemented
through any statute.

(D) It consisted of representatives
of labour and management.

Which of the following can be said to

be an Industrial Relations body/

machinery in USA ?

(A) Ministry of Labour

(B) National Labour
Board (NLRB)

(C) National Productivity Council

(D) AFofL &CIO.

The Advisory Conciliation and

Arbitration Services (ACAS) which

was provided under the Industrial

Relations Act of 1975 of Great

Britain provides for

(A) Conciliation and Arbitration of
disputes

(B) Disposal of dispute by
collective bargaining

(C) Matter to be taken to adjudication

(D) None of the above

‘Closed shop’ means which of the

following ?

(A) Joining union first and then
employment.

(B) Employment first and joining
union later.

(C) Not joining any union after
employment.

(D) A shop which is closed.

Under which labour legislation in

India the provision of check-off has

been accepted ?

(A) Industrial Disputes Act, 1947

(B) Trade Unions Act, 1926

(C) Payment of Wages Act, 1936

(D) Industrial Employment
(Standing Orders) Act

Relations

Paper-I111

30.

31.

32.

33.

Match the following :
List—1
a. Royal I
Commission
on Labour
b. Labour ii. Rege
Investigation
Committee
c. First National iii. Ravindra
Labour Verma
Commission
d. Second
National
Labour
Commission
Codes :
a b c d
(A) v il i i
(B) iv i i iii
(C) v il i i
(D) ii iv i i

List— 11
P.B. Gajendra
Gadkar

iv. J.H. Whitley

Which of the following is an
outcome of collective bargaining ?
(A) Award of Labour Court

(B) Award of Tribunal

(C) Arbitration Award

(D) Consent Award

Assertion (A) The policy of
tripartitism on which the Indian
Industrial Relations System
rested, has failed to yield the
desired results.

Reason (R) : The parties to the
tripartite bodies have resorted

to conflict measures and
adjudication.
Codes :

(A) (A)isright and (R) is wrong.

(B) (A)iswrongand (R) is right.

(C) (A) isright and (R) is the right
explanation of (A).

(D) Both (A) and (R) are wrong.

Majority of industrial disputes are
settled by which of the following
machinery in India ?

(A) Conciliation Machinery

(B) Arbitration Machinery

(C) Adjudication Machinery

(D) None of the above

J-55-13



25.

26.

217.

28.

29.
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(A) &H 79"
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(THTTE,) ST 7 U oA & 1975 &
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(A) foer % gore qur foarem
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(C) T =EHu=EE % U o ST
(D) S H | HiE &l
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T?

(A) Ued T H YT T SR T
TSR H FoleT LT |

(B) Ueet ISR 3R X o5 & T o
TG T

(C) ISR o & =I5 foddl da
T T T |

(D) FTATTEAIE |
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(B) TSTEX ¥F MM, 1926
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I pE)
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30.

31.

32.

33.
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b. =9 Sra-ggae AMET i, 3T
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B
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a b c d
(A v i i
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(A) &5 =™ H Ao

QUREICY
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34.

35.

36.

37.

Which of the following is the
meaning of ‘Cooling off’ period in
industrial relations ?

(A) Workers to have bath after long
hours of work with cold water.

(B) Not to be annoyed at the place
of work.

(C) To have a proper spirit of
implementing agreements.

(D) The period from serving the
notice of strike and the date of
resorting to a strike in order to
think  coolly  whether the
workers should go on a strike
or not.

Which one of the following is not a

subject matter of industrial relations ?

(A) Trade Union and Collective
Bargaining

(B) Strikes and Lockouts

(C) Unfair Labour Practices

(D) Employee Compensation and
Welfare

Safety net provision is a part of

which of the following ?

(A) Accidents prevention and
safety policy

(B) New economic policy

(C) Corporate social responsibility
policy

(D) Employee adjustment policy

Assertion (A) : In the post economic
reforms era Indian business
houses initially had to take
strong decisions in terms of
cost cutting measures and
human resource rationalization.

Reason (R) : Economic reforms
opened up markets and allowed
foreign  direct  investment
causing the domestic industry
to compete on uneven level
playing ground.

Codes :

(A) (A) is right, but (R) attributed
IS wrong.

(B) (A) iswrong, but (R) is right.

(C) Both (A) and (R) are wrong.

(D) (A)isrightand (R) is attributed
is logical.
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38.

39.

40.

41.

42.

During whose tenure as Prime
Minister, the Economic Reforms in
India were initiated ?

(A) Smt. Indira Gandhi

(B) Rajiv Gandhi

(C) Dr. Manmohan Singh

(D) Dr.P.V. Narasimha Rao

Which of the following is not a
contributory  factor for HR
outsourcing ?

(A) Strategic Reasons

(B) Financial Reasons

(C) Trade Union Hassels

(D) Competitive Factor

Which of the following statements

about downsizing is not correct ?

(A) Mergers and Acquisitions are
responsible for downsizing.

(B) Technical upgradation cannot
be attributed as a reason for
downsizing.

(C) Downsizing helps in getting rid
of deadwood.

(D) Cost-cutting measure is a
reason for downsizing.

Match the following :

Management Propounders
Strategies
a. ‘5’ forces i. RobertS.
analysis Kaplan &
David P. Norton
b. Business ii. C.K.Prahlad &
Process Gary Hamel
Engineering
c. Balanced iii. Michael Porter
Scorecard
d. Core iv. Michael
Competency Hammer and
Model James Champy
Codes :
a b c d
(A) Qi iv i [
(B) i i i iv
(C) iv i i i
(D) iii v i i

Which of the following is a force that
acts as stimulant for organizational
change ?

(A) Nature of the workforce

(B) Technology

(C) Economic Shock

(D) All the above
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41.
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(A) TS HROT

(B) %?ﬁawrgﬁ §

(C) TH ol I

(D) %W

SRAAERT & aR | FHEfaiad FHeE §

T I 1T N § 2

(A) fOo1FT T oM, SRATRNT &
forr SRR & |

(B) TR IAH I SRATRMST &
SHROT 1 S Te 152 T Hhell & |

(C) SRTEEMT  IFERTS HIER]
(STTE) W YR U H Tl

FATE |
(D) @FE HA HH _FH A
SIS &1 HROT & |
FATeTE i gHTeTd Y ;
aga_
HrAAaEr
a. ‘5’ IA i, YIS TE. HTAM
TergteoT wd e O, [

b. fasmg wfew ii. 9% wEar© T
ESlERI] R &

C. Gafetd R iii. WTEhaT Ul

d. ®R HEAEE v, qEET TR T

e S o
BT :

a b c d
A i v Qi
®) i i i v
© v i @i i
) i v i i
HSATCHS IRed & 3ORF & &7 H
Wﬁﬁ%mwmm%?
(A) st
(B) Wi=nifirent
(C) omféres wrene
(D) SudeR Tt
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43.

44,

45.

46.

47.

48.

The Japanese 5 ‘S’ model deals with
(A) Housekeeping

(B) Assembly line production

(C) Quality assurance

(D) Cost effective measures

Match the following :

List—1 List— 11
a. POSDCORB i. Mary Parker
Follette
b. 14 Principles of ii. Luther
Management Gullick
c. Integration iii. Peter F.
Theory of Drucker
Management
d. Management by iv. Henry Fayol
Objectives
Codes :
a b C d
(A) Qi i v [
(B) i [ iv i
C) i v i iii
(D) iii [ iv il
Which of the following training
programmes is meant for a new
employee ?

(A) Sensitivity training

(B) Apprenticeship training
(C) Induction training

(D) In-basket exercise

Which of the following statements is

not true about benchmarking strategy

of TQM ?

(A) It is related to the efforts of
Kaizen.

(B) It is related to the raising of
criteria for selection.

(C) It is raising the performance
standards of the organization.

(D) Itisa people driven activity.

Which of the following is not a type
of HRM strategy ?

(A) Task focused strategy

(B) Development oriented strategy
(C) Turnaround HRM strategy

(D) Placating HRM strategy

Which of the following is not a ‘lab’
in the sensitivity training, also known
as Laboratory training ?

(A) Stranger lab

(B) Cousin lab

(C) Organisational lab

(D) Family lab
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49.

50.

51.

52.

53.

Which of the following statements
about the recent trends in HRM is not
correct ?

(A) Employer branding is
attempted to be achieved
through HRM practices.

(B) Competency mapping is a
recent trend in HRM.

(C) Measurement of HR through
balanced scorecard has taken
shape.

(D) Performance and Knowledge
Management are not related to
strategic HRM.

Which of the following is not a
method of dealing with resistance to
change ?

(A) Education and Communication

(B) Participation

(C) Facilitation and Support

(D) Coercion and Punishment

Which one of the following
statements is wrong about OD ?

(A) Itisadiagnostic process.

(B) Itis an intervention mechanism.
(C) Itisa punitive mechanism.

(D) Itis avalue driven mechanism.

The *Managerial Grid” model was

developed by

(A) Robert Blake and Jane S.
Mouton

(B) Lawler and Porter
(C) Fiedler and Garcia
(D) Hersey and Blanchard

Assertion (A) : Structural inertia is an
organisational resistance process
to change because organisations
have built in mechanism to
produce stability.

Reason (R) : People with a high
need for security are likely to
resist change because it
threatens their feeling of safety.

Codes :

(A) (A) isright and (R) is a correct
explanation of (A).

(B) Both (A) and (R) are right, but
the (R) does not explain the
(A).

(C) Both (A) and (R) are wrong.

(D) (A)iswrongand (R) is right.
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43.

44,

45.

46.

47.

48.

ST 5°S A e ratud § 2
(A) ETSTHITIT
(B) U AR Scded

(C) TUTerT STRaTE
(D) TN Tl U

ﬁmﬁsﬁf@ﬁﬁgﬁﬁﬁﬁ:
~1 — 1
. POSDCORB i, &% urég ®icie

a
b. 14 TRiwer@ i, PR e
3 BeTHe
C. TTRH & iii. WX UF, TFHT
AT TS
d. TSHeE 9T iv. @RI AT
CICE (Prok)
H
a b c d
(A i i v
B) i i v il
€) i v i il
(D) Qi i v i

frfefaa & | @i |1 Uit FEwe
T HHER! o ol g € ?

(A) GeTTEa)/TegeietdT UreTeTor
(B) }wwufmm

(C) U= (AT TTSHRT) UrSTeTor
(D) AR AT

A TH. B SR HE-AS % TR

¥ freAfafiad & § BH 1 e T 6 & 2

(A) TE HSH % T ¥ T § |

(B) I® ad & ford Amee fawiad
FE TR ¢ | .

(C) & TeA &f fHw=ar & et &l
T @I E |

(D) TE SH-=feid Tiatary ¢ |

frefafed & @ &4 9 Ta.3R.uy. FH-
TS % TR T el & ?

(A) FE Heht5d HE-FISHT

(B) faehr ST -

(C) VAT U, 3R, -
(D) TIoh{ST TH.3TR.UH. HE-ASHT

geIEar U A o,
TR URTET % 9§ o ST ST
%W@ﬁ%ﬁwﬁ%’;m
A) TS B

EC)) HISTCHS oiel ED; TRaR o
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49.

50.

51.

52.

53.

TF. 3. TH. § e &1 i ugradi o aX o

e o & i o1 T @ 1@ e ?

(A) TDIRTHE. Hel o SRA e
mwﬁﬁ%ﬁmﬁaﬁ%

(B) wa.IRTH HATeRT
BT & & T € |

(C) Hdfeld ThRFIE & SIRT TR,
T IO RET & T E |

(D) TSI~ R W U= eIt

frafetaa o = 9@ fafaade aited=
% foryr | e ot Tty =71 & 2

(A) Fsmamw

(B)

(®) 1155?' FIOT (AT YETEAHIT)  q=ql

(D) &t EIZﬁW/F'ﬁT STEREEAT AT VS

M. & an | fAferfEa & @ #9 @
T oI & ?

(A) T =1 AR € |

(B) & wxqeidl fomanfafer & |

(C) % 3UecHs HEfEM ¢ |

(D) I% Goo-d1ferd HEEe ¢ |

TSI U1’ Higet fohes g faehiad
fopar € 2
(A) &< ik qAT SI9 T, AR
(B) eIk o9m Uiex
(C) ThiveT oor mig=r
(D) BT qAT sATE
aTFW(A) TTEATCHE
éo‘ Ut SIS
faﬁa kAT & iR gieAr |
ferar SO wE & IAded
Teranfaty grar & |
FHRT (R) D gwT 3=
ATETIIHAT TG oA A & gRT
wﬁaﬁq I %R)PH gt g &
IR T& 3! GR&TT Tt G H
g § Sefar € |

(A) (A)m“r%sﬁr(R) (A) F W&
AT

(B) (A)W(R)ﬂﬁfﬂﬁ%tﬁi(m
(A) i == T |

(C) (R)aﬁr(A)aﬁrwa%|

(D) (A) Tord ¢ 3R (R) W&t € |
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54,

55.

56.

S7.

Match the following :
List— 1| List—11
a. Ethno- i. These
centric organisations
adopt synergistic
strategies to
function  across
geographies.
b. Poly- ii. These
centric organizations
create an
integrated system
with a world wide
approach.
c. Regio-  iii. These are home
centric country oriented
organisations.
d. Geo- iv. Outward oriented
centric culture where
individuals follow
the saying that
“When in Rome,
do as Romans”.
Codes :
a b C d
(A) i v i iii
(B) iv i iii i
(C) iii v i i
(D) i i v i

The case study method of OD was
developed by

(A) Christopher C. Longdell

(B) Eric Berne

(C) Udai Pareek

(D) S.R. Udpa

Which one of the following is not a

principle of labour legislation ?

(A) Principle of Protection

(B) Principle of Social Justice

(C) Principle of Social Security and
Welfare

(D) Principle of
Standard of Living

Reasonable

Which one of the following is not

based on the principle of welfare ?

(A) Mica Mines Labour Welfare
Funds Act

(B) Iron Ore Mines
Welfare Funds Act

(C) Minimum Wages Act

(D) Dock Workers (Safety, Health,
Welfare) Act

Labour
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58.

59.

60.

61.

62.

63.

Which part of the Indian Constitution
divides jurisdiction for enactment of
Labour Legislations ?

(A) Distribution of Legislative Power
(B) Directive Principles of State Policy
(C) Fundamental Rights

(D) None of the above

Which Labour Legislation has been
enacted on the basis of Right to
Association as given under the
Fundamental Rights of the Indian
Constitution ?

(A) Minimum Wages Act

(B) Payment of Wages Act

(C) Trade Unions Act

(D) Industrial Disputes Act

Which of the following cannot be
said to be a factor influencing the
growth of Labour Legislations in
India ?

(A) Rise of Trade Unions

(B) International Labour Organization
(C) Growth of Humanitarianism
(D) Caste System in India

Which one of the following
recommended enactment of a wage
legislation in India in order to rectify
the problems relating to payment of
wages of industrial workers ?

(A) National Commission on Labour
(B) Royal Commission on Labour
(C) Labour Investigation Committee
(D) Adarkar Committee

Which one of the following is not a

type of labour administration

machinery in India ?

(A) Central Implementation
Machinery

(B) Industrial Implementation
Machinery

(C) State Implementation Machinery

(D) Regional Implementation
Machinery

Which one of the following Labour
Legislations provides comprehensive
benefits to industrial workers in
India ?

(A) Employee Provident Funds Act
(B) Employees’ Compensation Act
(C) Employees’ State Insurance Act
(D) Maternity Benefit Act
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54.

55.

56.

S7.

a b c d
(A) i v i iii
(B) iv i iii ii
(C) i v i ii
(D) i i v ii

g.@r. H HH TS UFa ha ToeRad
?

(A) TR Gt d=TSe

(B) uReaH

(C) 373 UR®

(D) TH. AR 3]A

frfafad & & &9 a1 5m siatad &

g &l & ?

(A) LT g

(B) mIRTeh = T gt

(C) wmMINST®: J&T T Hedmol &
g1

(D) JFRIET e ) 1 gt
fr=fefad § @ & 91 seamr & G

W YR el ¥ ?
(A) 3W% TWEH 9 HodAw Mg
SrafEe

(B) TS WIEI W& oF oAl Mg
&1 BITp

EC)) AT ATl SAfufem
D) e " 9iHs (G, @,
o) I
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58.

59.

60.

61.

62.

63.

g SufEHl B UiRG A & fod
TR G T i T 97T SIHR-
&5 1 forifora shear € 2

(A) Toaemt wifert = fomRor

(B) T=w Hitd e fagm=a

(C) Tt 21

(D) SUgH | ¥ hig 7@l

IRAE GiouH & Hifels SR &
=T SfeaAtad I s & SAIHR &
MR W B AT Afafam wike gam & 2
(A) | BeigRl Afufem

(B) uafgﬁwaﬁﬁm

(C) TS/ ¥F =

(D) 3frnfiTen foams situfTay

IRA ° 9| Sttt @ gy wr wfad
R AT HR [FErEd § F 68 T2
T ST Hehell & ?

(A) TSI GET I FTerat

(B) SITRIZ &1 TeA

(C) wHadmER 1 fahra

(D) 9RA H ST HoTwedt

3T Afheht bl EaRUGIC]
amﬁaﬁwwaﬁa%@z%ﬁaﬂﬁé?
IRA | o9 AufEm i wA
e e fam o ?
(A) TSR E AR
(B) Tl & 3T
(C) =M it |t
(D) SRR WH

PR

ITRA B 59 WREE a9 H TSR
ffafad 5 9 =i a1 =@ € 2

(A)  FH=E SFaraaT a=

(B) 3fnfiTen fohamaae a=

(C) =T feparaa= a=

(D) & fparaas a=

qRA | oiEifes gfgesl e
TGfaETd a1 o =faiad § 9§ i 9
ST SITEH U AT & 2

(A) FHERI qiae iy sttt

(B) HHGRT etfyfe stfuf=m

(C) wHHaRI =g dmr sifafam

(D) T Ugfae T
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64.

65.

66.

67.

68.

69.

Which of the following statements is

not correct ?

(A) India has ratified more than
eighty Conventions of I.L.O.

(B) Trade Unions Act of 1926 is
based on I.L.O. Convention
number 87 called Freedom of
Association.

(C) LL.O.is atripartite body.

(D) Governing Body is an organ of
I.L.O.

Under which of the following
categories the Shops and Commercial
Establishment Legislations can be
included ?

(A) Wage Legislations

(B) Social Security Legislations
(C) Working Conditions Legislations
(D) Welfare Legislations

Bonded Labour System (Abolition)
Act is the result of the ratification by
India of which of the following
Conventions of I.L.O ?

(A)  Unemployment Convention, 1919
(B) Forced Labour Convention, 1930

(C) Weekly Rest (Industry
Convention) 1921
(D) Right of Association

(Agriculture) Convention, 1921

The age of dependent for obtaining
dependent’s  benefit under the
Employees State Insurance Act has
now been enhanced from 18 years to
(A) 20 years (B) 22 years
(C) 24 years (D) 25years

Which of the following has not been

implemented through any legislation

at the National level ?

(A) Joint Management Council

(B) Workers”  Participation in
Management

(C) Recognition of Trade Unions

(D) None of the above

The Bhopal Gas Tragedy led to an
amendment under which of the
following legislations ?

(A) Factories Act

(B) Mines Act

(C) Plantation Labour Act

(D) None of the above

70.

71.

72.

73.

74.

75.
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The provision relating to suspension

has been made under which of the

following legislations ?

(A) Industrial Disputes Act

(B) Trade Union Act

(C) Industrial Employment
(Standing Orders) Act

(D) None of the above

What is the wage limit to be eligible
to be covered under the Employees’
Provident Funds and Miscellaneous
Provisions Act, 1952 ?

(A) 6,000 (B) 6,500
(C) 7,000 (D) % 7,500

Which of the following statements is

correct ?

(A) There is a statutory provision for
recognition of Trade Unions in
India at the Central level.

(B) There is no statutory provision
for recognition of Trade Unions
in India at the Central level.

(C) Code of discipline provides

both for Registration and
Recognition.
(D) There is  provision  for

recognition under the Inter-
Union Code of Conduct.

Under which of the following
legislations women avail maternity
benefit upto six months ?

(A) Maternity Benefit Act

(B) Employees’ State Insurance Act
(C) Both under (A) & (B)

(D) None of the above

Which of the following legislations

apply to unorganized sector workers

in India ?

(A) Minimum Wages Act

(B) Child Labour (Prohibition and
Regulation) Act, 1986

(C) Contract Labour (Regulation
and Abolition) Act 1970

(D) All of the above

The Factories Act, 1948 requires the
appointment of the ‘Safety Officer’
in factories employing at least

(A) 250 workers

(B) 500 workers

(C) 1000 workers

(D) None of the above
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64.

65.

66.

67.

68.

69.

g

(B) 1926 @ WHegX WH IeFEH
AETA3M. ANEHT 4. 87, E
Y 97 I SIS FET S 8,
T i € |

(C) 3mE.uer.3f. Bmeii Fepr & |

(D) I eI STETSA. 3T, T ST E |

qe SfvTREre Uiawe Sttt i
" ¥ g ot o whwfera fear
ST HehelT & 2
(A) 3TrafEe
(B) T At
(C) = =i fefaat grafaa stafTam
(D) AT ATHHIH

g HfTw FoTel (o) Stufay
Wmaﬁ.w.aﬁg‘m e &
STIEHL T IO € 2

(A) SRISTIRY I, 1919

(B) T &\ SIEHE, 1930

(C) wrfesh fasma (I NTTH),

1921
(D) W9 TH H AHER (FW)
, 1921

FHAR [T o\ AFET & I
anfsa =l o & & ol
3T I 3T T 379 18 a6 T =gl
fopeT X Y TS & ?
(A) 20 a9

(B) 2239
(C) 24a9

(D) 254

Tt 5 9 fo6d U TR W s
;ﬁﬁm%aﬁ&%ﬁaqﬁmw
2

A)  TIF TEET

§B)) Wwﬁaﬁﬁq&%amﬁm

(C) e S AT

(D) " ¥ HE T |

T 9 TEsr 4 R afutew &
3T GEMEH Y 3T Uget foha 2

(A) FREM Aa-=H

(B) w@&M AMFEH

(C) =T #fHe atfafram

(D) SUgH | ¥ Hig 7@l

70.

71.

72.

73.

74.

75.
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et & gy | ey FEfatea §
9 g srtuf=m o oFara fomar T & 2
(A) it foars sfafrre

(B) mwaﬁﬁm

(C) TR (T 3TR)
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(D) SUgH | | Hig TEl

FHAt v g wd fafay weeme
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fordr TroTgdt Bt T o 2
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|
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®) Wﬁﬁ?wwﬁéqﬁ%
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€) TIT IHA)

A=, 1970
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